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2. xtytz=4, xytyztzx =1, xyz =24 W, (xy+yz) (yz+zx)(zx+xy)
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(xy +y2)(yz + 2x) (2x + xp) =

xy +yz + zx = 15 °|-&5ko] HFsHH

(xy + yz)(yz + zx)(zx + xy)
=(1-zx)(1-xy)(1-y2)

=1-(xy +yz+ zx) + (x®yz + xy%z + xyz%) = (xyz)?
=1-(xy+yz+2zx) + xz(x +y + z) — (xyz)?
—1-1+2-4-4
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X QoA ot o] M 7|A& o] 85ttt
(x—a)(x=b)(x—c)
=x3-(a+b+c)x* + (ab + bc + ca)x — abc




3. (4+3)(4% +3%)(4* +3%)(4® + 3%) & FHs] spH?

@ 45 +38 @ 41531 @ 415431
(@)416 _ 316 @ 416 + 316
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(4 +3)(4% 4 3%)(4* + 3%)(4% + 3°)

= (4-3)(4+3)(42 4 3%)(4* + 3*)(4% + 3°)
_ (42 _ 32)(42 + 32)(44 + 34)(48 + 38)

= (4% -3")(4* +3) (4% + 3°)

= (48 - 38)(48 + 38)

— 416 _ 316
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@ (x—a)(x-b)(x—c)
=x3~(a+b+c)x* + (ab + bc + ca)x — abc

@ Slla-b7+ (b= + (c-a)?)
=a’+b*>+c*—ab-bc-ca

@(a+b+c)2:a2+b2+c2—|—2ab+2bc—|—2ca

@ (x+a)(x+Db)(x+c)
=x3+ (a+ b+ ¢)x* + (ab + bc + ca)x + abc
® (a+b+c)(a®+b* + c* —ab — bc - ca)
=a®+b% + 3 - 3abe
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A &HA o] 712 0] do], 2] 4
ZY7} a, b, c2F SHA tjZHA o] Ao
Va + b2+ ¢ =28

LAl b+ =28%-..09

E, BE 2A2E] dolo gF2 176°0] 2%
4(a+b+c) =176

“a+b+c=44---©O
o] uff, Z-gA| 2] Byl ol 2(ab + be + ca) O] B2
(a+b+c)?=a?>+b?+c?+2(ab+bc+ca) - ©
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ala+1) =194

a’=-a+1

at=(-a+1)?=d’>-2a+1
=(-a+1)-2a+1=-3a+2

ab =a*xa® = (-3a+2)(-a+1)
=3a*-5a+2=3(-a+1)-ba+2

=-8a+5

at-a® -3a+2-(-a+1)

as—1 -8a+5-1
—2a+1 —2a+1

—Sa T A(=2a+1)
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a-b+c)la-b-c)=(a+b+c)(-a-b+c)
a-b+c)la-b-c)+(a+b+c)la+b-c)=0

a—-b+c
at+b+c

a? —2ab + b% — ¢ + a® + 2ab + b% — 2

2a® + 2b% — 2¢?
w2t 242 + 202 — 2¢2 = 09| B2 g2 + b2 = 2
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={(a=b)+cH(a-b)—c}+{(a+Db)+cH(a+Db)-c}
=(a-b)?-c2+(a+b)?-c?
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D (x-y-1)2=x2+y>+1-2xy—2x—2y
@(a +b)%(a-b)? = a* - 2a°p* + b*

® (—x+3)3 =x%-9x% +27x-27

@ (a-b)(a®>+ab-b?) =a®-b3

® (p-1(P*+1(p*+1)=p-1
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O (x-y-12=x2+y>+1-2xy-2x+2y
® (=x+3)3 = —x3+9x% - 27x + 27

@ (a-b)(a® +ab+b2)—a -b?

© (p-Dp+ P>+ (p*+1) =p° -1




9. &Z+b2+c2=9, ab+bc+ca=9, a+b+c2 7&?

D -32 @ -2+3 @if’)‘/g
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(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27

a+b+c==+3V3
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(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
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® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3
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O Q-x)(1+x+x%)=1-x3

@ (2 +ay + %) (6% —xy +3%) = 2 + %7 + )
@) (x-3)(x-2)(x+ 1)(x+2) = x* 852 412
@ (a-b)(a+b)(a®+b*)(a* +b*) =a® - b®

® (a+b-c)la-—b+c)=a%>-b*-c?+2bc
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(x=3)(x-2)(x+1)(x+2)

(xz—x 6)(x% —x—2)

x? - x=Ye =4

(Y-6)(Y-2)=Y?-8Y +12
=(x2-x)2-8(x2—x) +12
=x*—2x3 —Tx%2 + 8x+ 12




12, x+y+z=1, xy+yz+zx=2, xyz=34 M, (x+y)(y+2)(z+x)
of ke Fu?
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x+y+z=1°4

x+y=1-z2
y+z=1-x
z+x=1-y

(x+y)0+2)(z+x)=01-2)1-x)(1-y)
=1-(x+y+2) + (xy+yz+2x) — 232
=1-1+2-3=-1




13. M A abcol ot a+b+c=2, a®>+b>+c? =86, abc = -1
Ao, a3+ b + 2 9 F2?
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(a+b+c)?=a®+b?+c3+2(ab + be + ca)
ab+bc+ca=-1

ad+b+c3

= (a+b+c)(a*+b?+ c?—ab - bc - ca) + 3abc
=2x(6-(-1))-3=11
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(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1
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Al 2429 Aol S a, b, c2F S
2(ab + bc + ca) = 52
dla+b+c)=36 > a+b+c=9
59 2] o))
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= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52 = V29




